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Ratio to ATLAS

10

T

0.5

13000 GeV pp tt
I I I | I I I | I I I | I I _I_ g
- ptTtbar (ATLAS semileptonic ttbar) 12
u 1=
| m ATLAS 1
—— Pythia 6.428 350 A~
—A— Pythia 6.428 370 S
__ Pythia 6.428 380 |
-~ g ©— Pythia 6.428 p0 1%
— --43-- Pythia 6.428 p2010 mpS
- | _
©
I — ™M
— <
— I ep)
= Jdo
- —4 O
- ™M
—
- E
x
B .8
N
G
— —c
— m
- J0o
- — 0
B 410
o
B -0
I T T U T AU S W N _ IE
:l T T T | T T T | T T T | T T |:
= 42
1
S Serrerrrrr e ————— =" y
B —0.5
| 1 1 1 | 1 1 1 1 1 1 | 1 1 |
0 200 400 Qb(gr{ 800
tbar{t} [GeV], [y in [0.4,0.8]



	Contents
	Page 1


